2003 A/L Structured Essay Question No (02)

B You are asked to dctcrmme lhe dcw 'omt ms:de thc Iaboratory usmg a pohshcd czlnmnetcr

(a) What ‘is ‘the’ cxpen*mﬁltar pmdeadum ‘that Yo, wou!,d follow, [n th;s l<:xper1rm=:m to fprm dcw .of
' [the, calonmctcr surfacc? '
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() ‘Two -temperature readings ‘are to be :iakcn in this expenrnent. What are they?
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() In this experiment water'is stu‘rcd to achxcvc a uniform ternpcralure. throughout the, volumc of watcr
Why is this important?

.....................................................................................................................




(e)-In 2 certain day when the room tcinperaturc 1530 °C the dew point is. 25.°C. You are suppos
to calculate the relative h“‘md“.‘/ using the_ folloymg graph whlch shows the variation of saturat
vapour pressure (P) with temperature (9) _
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_ (ii) Hence, find the relative -humidity..

() When you blow your brcat.h on a polished metal surfacc you can observe that the surface bnghﬂ
is being reduced. Explain the reason for this.




